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Directions (6-10) : In each of the following questions a se-
ries begins with unnumbered figure on the exireme left. One
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Directions {11-15) : In each of the following questiona a

One and only one of the five numbered figures in the series
does not fit into the series. The two unnumbered
one each on the extreme left and the extreme right fit into

the

series. You have to take as many aspects into acoount as

posaible of the figures in the series and find out the one and
only one of the five numbered figures which does not fit into

the

) § B

14,

series. The number of that figure is the answer.
(Syndicate Bank PO Exam. 10.10.2006)
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Directions (16-20} : In each question below d s0 oQeo0o0
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form a group, The question is which one of the figu 8969 8838 £050
doesnotbelongtothatgroup? 2009) 888800"‘ Cé8x
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A vhich does not haye P.
at pair of figures wi as
{f:;;hmla rt);nl‘.hai; in the unnumbered pair. Num%’&:t :

o L[ [ e [ | "
N = B on A
by i B i 1§| |

19.[1‘ 1. m

O @ 6 @6 ] JU ZSZS’I JLF

‘ - C,"QO @ 060 @0 @0 _‘ = m @
’ -20. [*50%%% 1% o e _ 28 18 © Ot °gg° 2
S B @ 3 @ “(5)

Directions (21-25) : In each of the following questions | . : 1 2
a serfes beings with unnumbered figure on the extreme left, : - M
One and only one of the five numbered figures in the series | 20,

does not fit into the series. The two unnumbered figures ‘ - E \
one each on the extreme left and the extreme rght fit into O@« O@O@ DB OQO-@
thesedes.Youhavetotakeasmanyaspectsiritoaccmmtas P : L ig i %
Posstble of the figures in the serfes and find out the one and o o ® o
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poe pumbered p olHigures. Out of these fiy,
oqe pair of figures does not have similar '
that pair of figures which does not

have a similar rela-
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is followed by
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yonship to that in the unnumbered patr, Number of that
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Directions (1-5) : In each ofthe following
uestl
four out of the five figures, element 1s related t(cl: eleni.lclnatl?l
in the same particular way. Find out

the figure in
element I s not sg related to element I1. which the

(8BI Associate Ban.h »O
Exam. 14.03.1690)
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‘Directions {(6-10) : In each of the following a series
begins with unnumbered figure on the extreme left one
end only one of the five numbered figures In the serles
does not fit into the series. 'I'het,wounnuml:ﬁ:redt fflﬁuﬂxz
oneachontheextremﬁeﬁandtheext;emerigh A
the serles. You have to take as many aspects into aﬂe
as possible of the figures in the series and find out the o

and only one of the five numbered figures which does not

is the answer.
fit into the series. The number of &:as;fgure o o
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Directions (31-38) : In each of the following
questions two problem figures are given followed by flve
answer figures marked (1), {2). (3),(4) and (5). There are
certain common characteristics/properties between the two
problem figures. You have to find out that answer figure
which does not show that common characteristic/ property
as that of the two problem figures. The number of that answer
figure Is your answer.

{681 Associate Banks PO Exam. 31.07.2003)
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Directions (36-40} : In each of the following ques-
tons, a related pair of figures (unnumbered) is followed by
five numbered patrs of figures. Out of these five, four have
relationship similar to that in the original pair. Only one
peir of figures does not have similar relationship. Select
that pair of figures which does not have a stmilar relation-
ship to that in the unnumbere« padr. Number of that pairis
your answer,

(8B1 Bank PO Exam. 16.05.2003)
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Directions (41-48) : In cach of the following ’:—
question’s series begins with unnumbered figureonthe | [ | - y
cxtreme left. One and only one of the five numbered i 3 4 L)
figures in the series does not fit into the series. The two 80.
unnumbered figures one each on the extreme left and -
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nany aspects into account as possible of the figures in e
the series and find out the one and only one of the five

_Numbered figures which does not fit into the series. The
number of that figure is the answer.
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. Directions (51-55} : In each of the followip, i
. tions series begins with unnumbered figure on %h‘!;lea- KL
{SBI Bank PO Exam. 18.05.2003) treme left. One and only one of the five Numbereq ﬁgu:x- _.
‘ ‘ in the series does not fit into the series. The two R

41, 1 : bered figures one each on the extreme lef} aﬂdutl;;um' .
: : ‘] treme right fit into the series. You have to take as
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ries and find out the one and only of the five n ol
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Directions (46-50} : In each of the following ques- | 64. ¢ ? * ° |
-tions In four out of the five figures, element I is related to -
clement Il in the same particular way. Find out the figure | |© _O]0 ofe o oo 9.
In which the element { is not so related to element II, Y 0 0 0 O o | 0
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pirections (38-60) : In each of the fpllowing questions
jn four out of the five figures, element I is related to ele- 63.
ment I in the same particular way. Find out the figure in § g § @ g § §
which the element | {s not so related to element I1. -
4 {SBI PO Ezam. 26.11.2006} 1 3 4 5
) Y g 63.
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i 2N A 4T = = Directions (66-70) : In each of the following questions
suu: %,“\ %*}"*m\%% g > series begins with unnumbered figure on the extreme left.
¢ o t Il nil ﬁ yh \]‘ \I_I One and only one of the five numbered figures in the se-
haq: ries does not fit into the series. The two unnumbered fig-
¢ se. 1 2 3 4 s ures one each one the extreme left and the extreme right
= : fit into the series. You have to take as many aspects into
e | =o. account as possible of the figures in the series and find

: g — — -— out the one and only one of the five numbered figures
00y 2 TﬂT ,f,ffﬂ- E‘ﬂlflﬂlﬁ “ﬂ. which does not fit into the series. The number of that
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Directions (61-88) : In cach of the following questions a @ m W

Seﬂesbeginswithunnumbemdﬁglmonmemleﬁ. _

'} One of the five numbered figures 1n the series does not | oo

5
belongtothescﬂes.'metwounnumheredﬂgtmaneeach xSl keaje x|0e |AQC|CGAaPAD :
extreme left and the extreme right fit into the series. You Cle s|0 Ria *|g L 1o

on ocTopjlrocpecsictMitNalfa |n

to take as many aspects into accounts as possible of
tl;:ev;gumlntheaeﬂesandﬂndouttheoneandonlyoueof
theﬂvenumbefedﬂglnmﬁrhichdmmtﬁtmtothesmes. 89.
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The number of that figure is the answer. cs s 1
| : (8BI Associate Banks PO )

Exam, 07.01.2007)
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the ghren oo duestions, in three out of > o0 V|e A0s S| || NATIONALISED g;
the given four palrs of igures, the first | 1 eon [ Lt 1 e mps pO ANgg)”
mente;ltﬁerglated to the second cle- (1) (2) /NIT/SO ERAMS
ame particular mann . ; . g
gpot l3:.1& the pair ipflz‘ghlch this relt:: ¥ Am = s A ® —< 1.{5} gﬁg,ﬁgﬁi rlrf‘:l. oy
onship does not cxist between the ! : new designs arzﬂtltoﬁth‘? 1‘;
ﬁm- u w0 T "r 0!0 e anticlockwise dil‘e.c addedi .
(or ! n 1 ;O main design. *elon o 0
extal Insurance Company ' 2.(1) In all oth, o e
Exam.08.04.2012) (3) (4) . OLher pairs ther, i
1. r . two types of deSigna’ areomy .
' ! ' — WERS == 3.(3) In each figure frop, | '
h ' SHORT ANS R - to 11 the main melemen i
’%. ,/ﬂ): to I the main desigy pucty |
ol dba | b G NATIONALISED BANKS anticlockoise Excep 1% o |
0 5 & IBPS PO/MT/SO e e oher Mgurey &
' l ' 1.6 ] 200] 3.3 ] 4@ 44) g{hﬂ'side from elememgt“ '
' '{o Qe , 58] 68| 7.@]| 806 ! ﬁg$§; ‘&i‘f:;ﬁgﬂ.w%‘g;
S I | | Al
. @) (4) 17.(3) | 18.(3) | 18. 6) | 20.(D) ement 1. A igureig
Y € SEHEEY; 21.(5) | 22.(4) | 23.(5) | 24.(3) 5.(3) In figure (3) the larget |y,
v | &1 25.(%) [ 26.3) | 27.() | 26.(2) ment would be on the (gt
5 ! P C : Vv 29.() [30.5 | 3. (0 | 32. 1@ clement II. b in |
N vt D 6. (3) In each sub :
N RN B 2N EER G EA) the pre-cisting et lgueyy
(n 2 37.(2) | 88.(5) | 38.(4) | 40.(3 step in anticlockwise -;meha.l'
5 K X T o §mfd 'ortle new de’sign m
] ' in Pl ;
210 vi2 SBI PO EXAMS oigne and beprSisling ¢
J N ' d ; Pre-exig,
rin [ Tia LW} 26) 8.0 40 fret ang the o devgenle
3 ) 5.2 | 6] 7@ | 8.4 change positions al {nte.
ternately ang
3, H 9.(9 | 10.(3 | 11. (1) | 12.(2) 80 as the second and the secgpg
iE ' = ! 13.03) | 14.(4) | 15. (5} | 16.()) last designs. efigure (3]3]101,“ |
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' ! 17.{4).| 18.(5) | 19.(3) | 20. @) - -.
N 1 el 11210 [22.10) [23.(4) | 24. 3 ¢ 5
= L 0 25.(5) | 26. (3) | 27. (5) | 28. (5) * o
— 2 ;g (4) | 30.15) | 81.(2) [ 32. (1)
= i = {4) [34.4) [ 35.(49) | 36. 2 7. (4) In each sub ,
e | A T Ere s e Tme e each design moves fll syt
1, u I | n 45.(4 146.14) [ 47.5) [ 48.0) spectively one, two, three, fou
@ 49.(3) [ 50. (1) | B1 - five, six designs are inverted.l
4 (4) -(1) | 52.(2) figure (4), th
f T . 53.(3) | 54.(5) | 55 5 158 vert , there should be in-
Ol *l—e b 57.(2) | 58.(3) 59° - 14) 8. ( 5'; I::d designs instead of five.
= - . -{3) | 60.(5 | each subsequent figure
s C:ﬂ oo P ',' T 61.(4) | 62.(5) | 63.(3) | 64 :1; pre-existing leaﬂetsg‘;iate
S e I:O p D 65.(4) | 66.(3) | 67.12) Tea B through 45° in clockwise dire-
) o 69. (%) | 70. (5 8) E;r;l and half leaflet s addedbe
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45° anticlockwise alternately,

lets are deleted alternately.

with a new design,

rarea Ana

given below :

It means, the upper part of the
squarewould be completed in the
_ last.
13. (3) In the subsequent figures two

* designs are added whether two
small designs or one design and
a line segment. In figure (3) there
should be shaded square in the
 place of line segment.
14. (4) In the subsequent figures the
arrow rotates through 90° clock-
wise and 45° anticlock-wise al-
ternately. :
' 18. (2) In the subsequent figure the
designs move from ‘the left to
right and then from the right to
left stepwise. In the first step the
two lower designs interchange
positions and the top design is
replaced. '
16. (2) Except figure (2), all other fig-
ures can be obtained by rotating
any figure.
17. {3) Except figure (3}, in all other
figures the second design is the

. 18. (4) Except figure {4), all others are
¢ 19.(5) In figure (5) the T-shaped de-

20. (1) Except in figure (1), in ail other

mirror image of the first design.
aimilar,

sign faces outward.

figures four curves face outward
and other four inward, In figure

9. (2) The inner designs are repeated
after every two figures and one
deslgn is deleted. The arrow

points outward and inward alter-
nately. The arrow rotates through

10. {(4) In the subsequent figures two
leaflets and one and one-half leaf-

11. (5] in the subsequent figures both
the- designs move one step in
anticloc]-cwisedirectionfortmﬁg-
ures.and then two steps in the
next figure. Again, both the de-
signs interchange positions and
one of the designs is replaced

12. (5} In the subsequent figures re-
spectively three, four, three, four
line segments are added
in a set order. In the figure (5)
the arrangement of designs at the
upper left corner would be as

- cLassIFIcATION J—

213 I‘S;org first figure to second fig-

‘uretne designis ed and
smaller design lsmuced w-?t?f
In it. From second figure to third
figure the outer design is delet-
ed. These two steps are contin-
ued in the subsequent figure. In
figure (5) the rhombus should be
Same as that of the {ast unnum-
bered figure,

+ 22.(4) In the Subsequent figures one

new design is introduced behind

and in front of the pre-existing
designs alternately. Again, the
designs move in anticlockwise di-
‘Tection one step and half step al-
tcmately. _

23. (5} In the subsequent figures one
design comes out of the main de-
sign and moves inside the main
design alternately, it is replaced
with a new design after every two
figures and moves one step in
clockwise direction .Aafter every
three figures. Another design
Inoves one step in clockwise di-
rection and is replaced with a new
design. Again, this design moves
inside the main design after ev-

- -.ery two figures,

24, (3) Inthe subsequent figures re-
spectively two and three designs
are replaced with new designs
and the number of new designs

is increasing by one.

25. (2) Inthe subsequent figures one
more side of the hexagon is re-
placed with a curve after every

~ two figures and the one.curved
side becomes straight.

'28. (3} From element [ to II one mir-

ror image of the design in element

- Hs added to the left side.

27.{4) From element I to II the de-
sign of element I moves to the
right side after being inverted and
two similar designs forming mir-
ror image are introduced.

-28. (2) From element I to Il two de-
signs rotate through 180°, two
designs rotate through 90° anti-

- clockwise while one design Is left

~ intact. , :

29. (1} From element I to Il line seg-
ments are added. The number of
line segments is one less than the
number of sides of the main de-
sign. Again the number of line
segments outside the main design
is one less than the number of

‘line segments present inside the

maindesign. - .-

- 80, (5) From element I to Il the horl-

36. (1)

zontal line segment.is rotated

(5) only three curves face outward.

through 180°, the upper lin

ment rotates througll:e45° :l:ccl%-
Wise and the lower line segment
Totates through 45¢ anticlockwise
while the shadeq parts of these

two line Segments move to the op-
Posite side,

(1) In figure {1) the design of ele-
ment | has been rotated throu
90° clockwise ff element L Inall
~ other figures one design moves
diagonally Opposite, one design

remains at its place and two de-
signs move one step.

32. {4) Except in figure {4}, in all oth-
€rs element 1! {s the mirror image
of the elem=nt I but the two de-
signs have in Ppositions.

88. (2) Except In figure (2), in all oth-
er figures the design of element |
rotates through 135° clockwise
and one more smaller design gets
attached behind the pre-existing
smaller designs to give element
I

34. (3} Except in figure (3), in all oth-
er figures, the design rotates
through 180°, one leaflet is add-
ed and the half leaflet is inverted
from element i to element I1.
38. {5) Except in figure (5), in all oth-
er figures, the shade part of ele-
ment [ moves to the other side in
element Il and the adjacent arms
get shaded differently while the
opposite arm gets shaded in sim-
‘ilar way. R
From first figure t ~ second fig-
urconedesignrotates wou 90°
clockwise while the _her .aree
designs rotate throug 1 90%anti-
. clockwise, .
(2) From first figure to se~ond fig-
ure the design rotates thr 1gh 90°
anticlockwise and thefirss nd the
third designs interchang . posi-
tions, so as the second - and the
fourth designs. -
(5) From first figure to second fig-
ure the plane of design rotatss
through 80° anticlockwise and e
. designs of the. second posit m
‘move to the first position and the
- designs of the first position move
to the third position, the designs
of the third position move to the
last position and the designs of the
last position move to the second
position. Again, the number of two
types of designs at the first and
third positions is increased by one
while the number of other two
types of designs Is reduced by
one.

-
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2 — CLASSIFICATION 16. (1) In the given g, /
¢

th the diag- shaded portiopy o '¢ Seriey '
3. ) From first flgure to second flg- terchange position Wi 2 > clockwise direction 313 In 30
ure the design rotates through 45 (1) to (2) the upper and umns upwardg o, d%“ne%
anticlockwise and the smaller de- Jem Figure res vely inter and In the firsg BLeD ong MWy %
D From gy nverted. fig o o positions and from P B step. tacd while e
40. (3) From first figure t d fig- chan, O \
ure mgr;ln;at the u;DJper left cor- lem Figure (2) to (3) the tons. blackened, e Boxey s
ner rotates through 45° clockwise left designs in es are continued | 32 (4) [ each subsequenmg
while the arrow at the lower left Stmilar chang {4) to (5) and spectively 2, 3, ) neg,m"re. y
corner rotates through 45° anti- from Problem Figure (8) 1a/are added iy, et e
clockwise, the arrow at the upper 80 on. uent figure the and at the k"’de
right corner rotates through 135° | 14, (3) In each s“b,;ﬁa side and one . pre-existing line ,‘:'t:eu"
clockwise and the arrow at the low- design moves alternately pin head move hayr, oty 4
er right corner rotates through side m% and clockwise directy atery?
135° anticlockwise, ﬁrstrc;mf;d then 90° antl uﬂimxjoag}h s ;:atllt?c?:w lnlag
SBI PO EXAMS cloclkowise and Is again reversed. would be as folloye ! Seme’
11. (1) From first figure LO&EPE — _
1. (1) From the first figure to sec- ure the first and the 00° Y
-ond figure in each unit the two from the top rotate through 4
parallel line segments clockwise while the second aéno°
position and an arrow head is the fourth arcs rotate through f - —
added to the smaller line segment anticlockwise and the Plﬁnc 3__ O~
and a pinhead to larger line seg- designs rotates through 45° an : ,
ment while the third line segment clockwise. : I I
Is changed into a triangle. 12. @) mﬂmﬁguetomndﬁg‘s : :
2. (5} The second figure is the wa- ure the entire design rotates'| ;o (5} In the first step ““‘eellne
ter image of the first figure. through 180° and the shaded ments are deleted, one Py Ch[::i
3. (2, The cntireﬁgurerotates anti- pa.l‘t Of one leaﬂet moves to the tlle tl-u-ee bmtes| il'l the SW
clockwise and in the second ele- other side. step two line segments 0% ey
ment, the number of those de- 13. (3) From first Agure to second fig- edandinthethkdatepmun; :
signs which is greater in element 1| segment is deleted, These thr
I lslncmasedbyonereplacingthe ure the cross sign (x) moves E steps are repeated the
other design. : order in the subsequen figm
4. (3} The shaded triangle moves one step in anticlock-wise direction, In figure (5) there shoulg
step clockwise and another trian- the circle (0} and the square ([]) line segments in place of ity
gle infront of it becomes shaded. 1 segments.
Also, elther the second or third move 13 steps In clockwise di-.) 19, (3)" According to question o
triangle in anticlockwise direction = bered figures which does g
from the orginally shaded trian- rection while the equal sign into the series. Hence optigny
gle loses one of its side. 1 is the answer.
8. (2) The figure rotates 90° clock- ‘moves 15 steps in anticlockwise 20. (2) The first unnumbered fgr,
wise, the shaded part moves to is repeated after three
the opposite side and the outer direction. d and hence (1) = (5) and (%)t
line segment opposite to shaded | 14. (4) From first figure to second fig- right most unnums e
part changes directlon, ;l;sth&mugh ltglsl‘i'na;tlclockvtd?e the subsequent figures theams
6. (1) In each subsequent figure two p of the attached designs head moves halfa stepintheoer
similar designs are introduced re- and one figure and when it rexches o
placing one of the pre-existing is replaced by a new design. The :
: rtical line segment rotates other end of the line segmen.
designs. Thus, in each subse vertic ne segm otates s
quent figure the number of de- through 180°, the attached design rmnseeld. tTto ]l thetatt
signs {s increasing by one. In fig- which goes to bottom is inverteq | 21. (3) From eme:tlhm oy
ure (1), there should be two cross while the other design is replaced design rotates otk
signs (X) instead of asterisks. by a new design. In figure (4) the clockwise, the shad gty
7. (2) According to question (2) num- triangle has been inverted from let moves to c;gl;;d;d od insi0F
bered figures in series does not first figure to second figure, - more leaflet ge |
fit into the series. Hence option | 18. (5) From first figure to second fig- lar manner. [ to I el
(2) is the answer. ure the line segment rotates | 22. (1) From element .
8. (4) In each subsequent figure re- through 90° ¢ while the lowing changes occur : ]
spectively 1, 2, 3, 4, 5, 6... curves other design rotates through 9g° *—) New desig
areaddedlnasetordenlnﬂgwe anucjme'memmm i . .

(4) there should be three curves
on the upper right.

9. {5) From unnumbered figure to
Problem Figure (1), one design in-

at its place, while the triangle
moves to the other side of line
scgment and also the ghyg, ed part
foves to the opposite side, T S

s THBP“I‘, s




LA WO F LTI FUNAT VLS AR L7 FV T Wt/l L s LTI
-

286. (3) In each subsequent figure re-

?’g‘h:"‘u? - | 28.(8) Exceptinfigure (4), 1n a1 oth-
. % er figures, the upper design ro-
oty | tatesthrougn 13500 from
il h,% . element [ to il, the lower left de-
°’€ea&3m sign rotates through 135° clock-
¥ 2y wtt_e.act whtii;: the lower right design

. _ rotates through 135
:lia""em rotat gh anticlock.
L%’m : 24. (3] From element | to Il both ty
-‘u'he Taa designs Interchange Position, th:
g Uy largcdeslgnbecomessmanerand
iy a:?,ﬂ vice-versa, the right design rotates
Yope . through 90° ¢} € while th,
f-“n":ﬁ? :e& ctl,esiugnis!at reversed ar?
NS er being rotated through gge
V0 clockwise, 0
Lo | 255 From elementIto | e ;

o ﬁgureofthele&deslgnlsel'?lamrgeeé

L atits place and, jn turn, encloges

o the outer figure of the right de-
SR sign. Similarly, inner of the
right design is enlarged and, in
. turn, it encloses the outer figure
N of the left design.
g,
Y

Spectively two, three, four, five, six
and seven new designs are added

and the pre-existing des
deleted in the order 1, 21%15 o

new design is added,
The design 'S’ present in the fig-
ure (5) is absent in the last fig-
28. (5) In each subsequent figure the

designs move in the following or-
der :

. d a new design appears in an-
gn n direction starting from
the lower left corner. T.he_ figure
(5) should be as follo@.

X o C}

+

ot S
and four line
ents are added In a st 9r-

27.(5) Ineach subsequent figure one |

~—1 cLassiFicaTioN -

Creasing by one in either clock-

wise direction
directio or anticlosclowise

n.
32.01) The two cirel
- toone anocther,
(4} From top figure to bottore fig-
:ilm sither oy t or innermost
esign is deleted,
» (B At least two
rounded by cross-signg
38. (4) The numpe etals
in . r of petals is

es are opposite

each design moves diagonally
downward and the lowenmost de-
slgn moves to the top posttion. The

design (| ) rotates through 90°

clockwise, the design{[ ) rotates

through 90° anticlockwise while the

- design (P) rotates through 90°

flanticlockwise and then inverted

87. (8) From-first figure to second

- figure the designs at left and in-

terchange positions while the

- curve at right end is inveried and
tWo curves are added.

. 98. (3) From first figure to second |

figure the arrow rotates through
135° anticlockwise, the wavy line
rotates through 45° anticlockwise
while line segment rotates through
135° clockwise, :

39. {4) From first figure to second
figure the line segment rotates
through 90° anticlockwise and the
curve rotates through 90°
clockwise and then it is inverted.

© 40. (1) From first figure to second

figure the design rotates through
180° and one line segment is con-
verted into curve.

41, (4) After every two figures two

smaller line segments are added
Infront of the pre-existing smaller
-line segments and the line seg-
ments move in anticlockwise di-
rection stepwise. '

* 42, (1) Ineach subsequent figure one

arrow is added and each arrow is
- reversed after every. two figures.
‘The figure (1) should be as follows:

gz?tlln figure (4) ther® should b.e
15llnescgments.. L L

Squares are sur-,

36. (2) From first figure to second.

'44. {2} In the subsequent figures re-
spectively two, four, six, elght, ten
and twelve line segments are
added. In figure (2} there should
be seven small line segments.

45. (4) In each subsequent figure the
main design rotates through 90°
anticlockwise,

48. {4) From element first to second
the top and the left designs rotate
through 135° anti-clockwise, the
lower design rotates through 45°

- anti-clockwise while the right de-
sign rotates through 45° clockwise.

47. (5) From element first to second
all the designs move two steps

_in anti-clockwise direction and

the first and the last designs in-
terchange positions and the first

. design is replaced with a new
design. Stmilarly, the second and

- the fifth designs interchange po-
. sitions and one of these two de-
“signs is replaced with a new de-
sign. Again the third and the
fourth designs Interchange post-
tions and one of these two designs

~ Is‘replaced with a new design.

48. (2) From element first to second
all the designs move one step in
anti-clockwise direction and one

. side is added to each design.

49. {3) From element first to second
the lowermost design shifts into

- middle after being inverted, the

- middle design moves downward
and attached figure is replaced
with a new design. The attached

- figure of the top most design is
also replaced with a new design

. affer being inverted. :

50. {1} From element first to second
all the designs mave in anti-clock-
wise direction and one design each

- of the left and right designs is de-
leted while one design is added to
the upper and lower designs.

. BL (1) In the subsequent f} the
pre-existing leaflet rotates
through 45° anti-clockwise and
also moves in anti-clockwise di-
rection and after every two fig-

- ‘ures two half-leaflets are added.

Y e s e i
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68, (3) Ineach subsequent figure all

| CLASSIFICATI

U‘l/d./ I'VUUCUUIIP
N |-
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the designs move half step in
clockwise direction and twopde-
a‘lgns are replaced with new de.
3 gn while in the third step three

Glilsﬂl%l.m are replaced with new de-

. 60. {4) In each figure :

B2. (2) In the subsequent figures all The movement ofgd]e:a%gggo?v‘h either outside or m: e"&h 4
the pre-existing designs move on&e ure (1) to figure design. © the m:; . ‘

step In clockwise direction an as:

_ the first design ts replaced with 70-O elgc';?;‘haa;z::q“ent foury,

" anew deslgn in the first step and © New <710 ticlockwise d hmfﬁteph,lill gt Y
then 4 new design is added at deslign tates thro‘recﬂon. The 1,20 {
the second position after every o -] glero ugh 90e - Clay,
o Bures - S| S T i

83. {3) In the subsequent figures the ea

arrow nfovca rcéspectl:jcly t“tro ° &mtm;m aﬁerthcrhe:“h&n. _ e

t d tep In alternate . . ¢ same is -
: ;:ﬁ:::} In anti-claclwise direc- These two StCPEﬁ mr:c?:?tfgc?e TePeatey

tlon and one new design is added |, ternately. In figu £(S) INSURANCE, EE:

infront of the pre-existing design - should be (P) msﬁa&?ﬂ&e& form EXAMS I

and behind the pre-existing de- 62. (5) The last figure th 1. [3) Exceptinfy 14

sign alternately. of the first figure. Figure [4'11_‘1’: ¢ ' BUre (3), 1n o .

.84, (5) In the first step one-fourth inverted foméof 25“‘;3 (t?: et er figures the design () rotag, |
parts of two circles get shaded fore, figure (5) 8 (01")‘ . through 135° ley
and in the next step one circle ed form of figure (1). element to second ¢le iy
becomes white, The shading pat- |  @8. (3) In the first step one line aeg- 2) Except in fi TMent, -
tern inside the circle proceed in ment is deleted from the upper - 2. { lﬁ P gure (2), manm.h
clockwise direction while the figure while the lower figure Is In- er ligures aen the curyeg oty
circles get shaded in anti-clock- verted. In the next step one line through 80 anticloclkwig, &0: -
wise direction, ' segment is deleted from the lower first element to secong elome. .

B3, (5) In the subsequent figures one figure while the upper figure is in- In figure {2) the topmogt !:“L :
design moves to opposite sector verted. These two steps are re- rotates through gg° CIOck:ve
and the other in anti-clockwise peated alternately. In the figure(3) from first element to gepgpy
direction while the third design both the figures are inveried. ment. nd el
remalns static, 84, (1) The triangle {s rotating respec- 8. (1) In figure (1) th ‘_
B6. (4) The main design rotates 90° tively 45°, 90°, 135°, 180°, 225° " small ey € PoBitiong o
anticlockwise, Theinnerandouter | ..., in anticlockwise direction ? and large pin heads Bre d,
line segments move two steps while the arc is inverted in the crent as compared to the otpe,
anticlockwise, ‘next figure. In figure (1) triangle - figures. '
7. (2) Except in figure (2), in all other has been rotated through 80° an- 4. {2} Except in figure (2), in allgg,
- pairs of figures the shaded por- * ticlockwise Instead of 90° clock- er figures, the following change,
tion ascends or descends. wise. ' . oceur from first element 1, a:;' ;
58, {3) Except in figure pair (3} in all | ©68. (4) The line segments are added ond element : i
other pairs of figures from element | in the following manner: :
I to Il the number of arrows is | 091192 293 34 495 596 |
. decreasedbyonewhilethenum- [ Upper 1 1 0 1+ 1 .1 |
' - ber of equal signs s increased by | Side : |
one. Again the extreme leftarrow [ Lower 1 2 1 1 2 0 |

rotates 135° clockwise but in fig- | Stde | .

ure (3) it has beenrotated through |  Therefore, figure (4) is the wrong

180° clockwise. - * 1 * in the series. : _

59, (3) The smaller designs rotatés 90° | 66. (3) In each subsequent figure the
- anticlockwise and the smaller de- matn design rotates through 90°
flgns_l;ecome larger while the clockwise and the line segment B
arger designs become smaller | comes out of the main design al- ' |
- from element I to II. Again the | “ternately after moving respelgcntive. G (2];2xce pLin flgure (2}.inalloﬂr;
rghtdesignisinverted.” [ lyoneand two sides in anticlock. er igures, the following changy
60.(5) In all other pairs of figures | wise direction alternately, occur from first element tost
there is one unshaded triangleto | 67. (2) In the subsequent figures the ond clement.
the left of shaded e dest,
&n rotates through 46° angd
61. (4) The movement of designs from 20° alternately and half
| ﬁggfmd figure to figure (1) leaflet i3 added ahead and behing
hown “ L : of the main design alternately,




